WUU UN.06

AN919LENIRUILUSTUUN L ASUIRaTSHATS1wasLBunAT Ldae

1599219 LY unaadig

1 ¥eolasamsdndenandisesdmiudenianingesnwssuuaneds 115 13 Usednd 2567 (Wansed) 913U 53 518013
\a#l S1(B)Hardware(K)014/2567

2 Mhpnunvedlaninms wundamiagman nesusmsian nmsliihduginan 1 (n1ald) Smdamnwesys

3 RusuUssnanlasuinass 677,626.47 UM (3153 BYarLiy)

4 uiMmuesIAINaNs (51A191989) a TueudiRsngauvedevedng

'17i shaag  |10A13 T | eseniae Juku miyarhiiu ERGREPH
CROSSARM ST. 150X150X12 MM. 4.5 .

1 |1-00-012-0002 2 vieu 6,519.00 13,038.00 912.66 13,950.66
M.LONG
CROSSARM, ALLEY ARM150X75X9 MM. ,

2 {1-00-012-0004 12 vou 4,063.00 48,756.00 3,412.92 52,168.92
3 M.LONG
ST. CHANNEL, 100X50X5 MM. 2.25 ,

3 |1-01-000-0100 6  teu 1,103.00 6,618.00 463.26 7,081.26
M.LONG
ST. CHANNEL, 100X50X5 MM. 4.2 ,

4 |1-01-000-0103 42 veu 1,945.00 81,690.00 5,718.30 87,408.30
M.LONG
ST. CHANNEL, 150X75X6.5 MM. 6 ,

5 |1-01-000-0303 4 veu 6,269.00 25,076.00 1,755.32 26,831.32
M.LONG
ST. CHANNEL 150X75X6.5 MM. 2.5 .

6 |1-01-000-0304 12 vieu 3,483.00 41,796.00 2,925.72 44,721.72
M.LONG
ST. CHANNEL, 200X80X7.5 MM. 1 .

7 |1-01-000-0400 72 teu 1,799.00 129,528.00 9,066.96 138,594.96
M.LONG
ST. ANG.,OHGW. BAYONET 2.5M.LONG .

8 |1-01-001-0004 6  teu 761.00 4,566.00 319.62 4,885.62
ST. ANG.,OHGW. CORNER BAYONET 2.5 .

9 |1-01-001-0005 12 viou 1,470.00 17,640.00 1,234.80 18,874.80
M.LONG

10 |1-01-003-0002  [ST. PLATE 6X100X450 MM. 24 Hu 124.00 2,976.00 208.32 3,184.32
ST. PLATE,OHGW. BAYONE,DWG.SA3- .

11 |1-01-003-0006 16 &u 25.60 409.60 28.67 438.27
015/44004
ST. PLATE DOUBLE ARMING )

12 |1-01-003-0102 12 & 456.00 5,472.00 383.04 5,855.04
12X100X760 MM.
ST. PIPE,SIZE 20, 150 MM.LONG W/O ,

13 |1-01-005-0002 | 3 teu 28.20 84.60 5.92 90.52
ST. WIRE, STRANDED 35 SQ.MM.TIS.404

14 |1-01-010-0003 145 s 22.60 3,277.00 229.39 3,506.39
ST. WIRE, STRANDED 50/7

15 |1-01-010-0004 50 wms 33.40 1,670.00 116.90 1,786.90
SQ.MM.TIS.404

16 |1-01-011-0101  [BOLT,MACHINE M.12X50 MM. 1 S 16.90 16.90 1.18 18.08

17 [1-01-011-0300 [BOLT,MACHINE M. 20X350 MM. 5 du 73.70 368.50 25.80 394.30

18 |1-01-011-0301  [BOLT,MACHINE M.20X400 M. 1 S 85.80 85.80 6.01 91.81

19 {1-01-011-0302  [BOLT,MACHINE M.20X450 MM. 30 & 97.80 293.40 20.54 313.94

1/3



WUU UN.06

=p

Wudu

salan 378013 | Seseviiig My 31ANTW

20 |1-01-014-0001 |BOLT,ROUND EYE M.16X200 MM. 1 Ju 50.50 50.50 3.54 54.04

21 |1-01-014-0003 |BOLT,ROUND EYE M.16X300 MM. 10 u 67.70 677.00 47.39 724.39

22 |1-01-015-0000 |BOLT,OVAL EYE M.16X150 MM. 2 Ju 66.90 133.80 9.37 143.17

23 11-01-015-0001 |BOLT,OVAL EYE M.16X200 MM. 6 Ju 76.00 456.00 31.92 487.92

24 11-01-015-0002 |BOLT,OVAL EYE M.16X350 MM. 6 Ju 107.00 642.00 44.94 686.94

2511-01-015-0101 |BOLT,OVAL EYE M.20X450 MM. 3 Ju 217.00 651.00 45.57 696.57
WASHER,LOCK,SPRING,SIZE 20 .

26 |1-01-018-0302 9 U 6.83 61.47 4.30 65.77
MM.,TIS.259
BRACE,FLAT,FOR CROSSARM .

27 11-01-020-0003 6 p)”! 484.00 2,904.00 203.28 3,107.28
50X10X1,950 MM.
BRACE,ST. ANG. 50X50X6 MM. 1.8 .

28 |1-01-020-0007 41 p)”! 499.00 20,459.00 1,432.13 21,891.13
M.WIDE
BOLT,STRAND EYE,SINGLE M.16X350 .

29 11-01-021-0200 MM 7 p)”! 61.80 432.60 30.28 462.88
BOLT,STRAND EYE, 45 DEG.M.16X350 .

30 |1-01-021-0202 MM 10 p)”! 91.90 919.00 64.33 983.33
BOLT,STRAND EYE, 45 DEG.M.20X350 .

31 1-01-021-0203 MM 12 p)”! 124.00 1,488.00 104.16 1,592.16
CLAMP,TRIPLE BOLTS,ST. WIRE 35 .

32 |1-01-023-0003 14 du 93.80 1,313.20 91.92 1,405.12
SQ.MM.
GW SUPPORT AND CLAMP,FOR .

33 1 du 199.00 13.93 212.93

1-01-023-0203  [BAYONET 199.00

ARMOR ROD,PREFORMED,AL-ALLOY Y

34 11-02-022-0109 6 Gy 743.00 4,458.00 312.06 4,770.06
400 SQ.MM.
SPACER,HELICAL ROD,PREFORMED,AL Y

35 [1-:02:024-0000 | 6 260.00 1,560.00 109.20 1,669.20
CONN.,SPLICE, TENSION AL 400 SQ.MM. .

36 |1-02-040-0019 30 du 757.00 22,710.00 1,589.70 24,299.70
CONN.,SPLICE, TENSION AL 400 SQ.MM. .

37 |1-02-041-0019 42 du 757.00 31,794.00 2,225.58 34,019.58
TERMINAL, 15 DEG.,NEMA 4-H,AL 400 .

38 |1-02-042-0302 85 ou 278.00 23,630.00 1,654.10 25,284.10
SQ.MM.
TERMINAL,NEMA 4-HOLE,AL 400 .

39 |1-02-042-0201 105 du 255.00 26,775.00 1,874.25 28,649.25
SQ.MM.
CLAMP,D/E SINGLE LUG,AL 400 SQ.MM. .

40 |1-02-043-0001 15 du 565.00 8,475.00 593.25 9,068.25
CLAMP,D/E,DOUBLE LUG,AL 400 .

41 |1-02-043-0101 13 ou 583.00 7,579.00 530.53 8,109.53
SQ.MM.
CLAMP,STRAIN,KEEPER,AL 400 SQ.MM. .

42 |1-03-011-0103 14 du 770.00 10,780.00 754.60 11,534.60
CLAMP,SUSPENSION,FOR AL 400 .

43 |1-03-012-0004 144 &y 757.00 109,008.00 7,630.56 116,638.56
SQ.MM.

44 |1-03-014-0000  |CIVIS EYE 22 du 91.90 2,021.80 141.53 2,163.33




WUU UN.06

i SIEEo) 518015 U 1AsONLIY Wuku myaenifia 31A197Y
45 11-03-014-0001  [BALL-CLEVIS ANSI TYPE K 1 ] 186.00 186.00 13.02 199.02
46 11-03-014-0002 [BALL-HOOK 5 1 83.50 417.50 29.23 446.73
47 11-03-014-0003 [SOCKET-EYE 2 1 97.90 195.80 13.71 209.51
48 11-03-014-0004  [Y-CLEVIS-BALL 14 1 153.00 2,142.00 149.94 2,291.94
49 11-03-014-0005 [BALL-CLEVIS ANSI.TYPE B 37 ou 97.90 3,622.30 253.56 3,875.86
50 |1-03-014-0006 [SOCKET-CLEVIS ANSL.TYPE B 23 U 107.00 2,461.00 172.27 2,633.27
51 |1-03-014-0007 [SOCKET-CLEVIS ANSI.TYPE K 46 U 215.00 9,890.00 692.30 10,582.30
52 [1-03-014-0012 |BRACKET,CORNER SUSPENSION q oy 226.00 904.00 63.28 967.28
SPACER,PLATE,FOR AL 400 SQ.MM. .
53 [1-03-014-0013 15 92U 194.00 2,910.00 203.70 3,113.70
Juduitinge ( Fauauanuviiuaniuaesdesanudunnuiniauaiuanied )sfmm@;&am,ﬁm 733,236.53

5 WndsiiinNvessIAInans (31A191589)
5.1 Y)N3IYNT N usIensi 36-37 uay 43 AR 4 (6) FIMNAMALUINIUTRYeY NHA. MueliA SKN.(A) aviuil
25 i1.a. 2567
5.2 98M57 36-37 WA 43 AR 4 (5) ﬁmﬁmasdgaw%aé’wm%u’qqmﬁwaimwmmaaﬂwmsmm
6 Tedenvihiigimuasimnans (11A181589) ynau
Lungnnug NAUMY Us51unTINg
24187880 WIHAN NTIUNT

397 s.anaiuiuiaas gaazywde nssuns

3/3



